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General Instructions :

(i) Please read the instructions carefully.

(it)  This question paper consists of 24 questions in two Sections : Section A
and Section B.

(iti) Section A has Objective Type Questions whereas Section B contains

Subjective Type Questions.

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer

(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v)  All questions of a particular section must be attempted in the correct

order.

(vi) Section A : Objective Type Questions (30 marks) :

(a)
(®)
(c)
(d)

This section has 6 questions.
There is no negative marking.
Do as per the instructions given.

Marks allotted are mentioned against each question/part.

(vii) Section B : Subjective Type Questions (30 marks) :

(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)

1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

) Which of the following is not a stage of active listening ?

#

(A) Receiving

(B) Understanding
(C) Remembering
(D) Non-responding
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(iii)

(iv)

v)

(vi)

#
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(ii)

(iii)

(iv)

(v)

(vi)

#

The following are the characteristics of positive stress except :
(A) It improves performance

(B) It feels exciting

(C) It motivates

(D) It demotivates

arises because of incentives or external rewards.

(A) Intrinsic motivation
(B) Extrinsic motivation
(C) Realistic motivation

(D) Unrealistic motivation

Which of the following signs define a formula ?
A+ (B) =
€ % (D) *

An entrepreneur starts a business, nurtures it and makes it reach
a point of self-sustenance and then the entrepreneur sells it and

starts a new one. Which type of entrepreneur is this ?
(A) Professional

(B) Non-technical

(C) Technical

(D) Industrialist

In a plastic factory, a lot of articles are being made. The manager
finds a number of defective pieces which have to be discarded. How

can he/she minimize this waste ?
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2. Answer any 5 out of the given 7 questions. 5x1=5

1) An example of plastic money is .
(A)  Debit card/Credit card (B)  Cheque
(C)  Withdrawal slip (D) Digital money

(i) CBSstandsfor_ .
(A) Code Banking Solutions
(B)  Core Banking Solutions
(C) Common Banking Solutions
(D) Credit Banking Solutions

(iii) The should be as far away as possible from the
entry/exit points of the bank.
(A) Cash Cabin B) Locker Cabin
(C) Strong Room (D) Manager’s Cabin

(iv) In case of a deposit in a bank, is the creditor.

(v)  The standard rate at which RBI is prepared to buy or rediscount
bills of exchange of commercial banks is called :
(A) SLR (B) Bank Rate
(C) CRR (D) Repo Rate

(vi)  Which of the following is not an asset held by commercial bank ?
(A)  Current account deposit
(B)  Bill of exchange
(C) Money lent at short notice
(D) Credit balance with the Reserve Bank

(vii) KYC compliance is done :
(A) toidentify a person
(B)  to know the address of a person
(C) to ensure the genuineness of the person’s identity as
mentioned in the application and to verify
(D) as per the rules of state government

# 7 P.T.O.
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3. Answer any 6 out of the given 7 questions. 6x1=6
1) IFSC code consists of how many alphanumeric digits ?
(A) 10
(B) 11
© 9
D) 8

(ii))  What is Internet banking ?

(iii) Which activities are outsourced to the BPO ?
(A) Back office
(B)  Front office
(C) Middle office
(D) Central office

(iv) Interest is always expressed in terms of per annum.

(v) is the rate which commercial bank needs to maintain in
the form of cash securities (Bonds) before providing credit to its

customers.
(A) Reverse Repo Rate (B)  Repo Rate
(C) CRR Rate (D) SLR Rate

(vi)  Which type of loans are less prone to the risk of becoming NPA ?
(A) Retail loans
(B)  Wholesale loans
(C)  Gold loans
(D) Mortgage loans

(vii) A rupee note contains the signature of the
(A) Finance Secretary
(B) Chairman of RBI
(C)  Governor of RBI

(D) Finance Minister
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4, Answer any 5 out of the given 6 questions. 5x1=5

(1) The safest place for keeping money is
(A) A pit dug in the ground
(B) Aniron box
(C) Bank
(D) Moneylender

(i1) office manages the IT resources for the bank.

(iii) Today, bank branches do not require huge spaces because

(A) operations are computerized

(B) branches are not open in physical form
(C) all branches work from head office only
(D) oflack of space available

(iv) Upward movement in prices in per annum terms is known as

(A) Inflation
(B) Deflation
(C) Increase

(D) Decrease

(v) At which rate does RBI lend money to a public sector bank on a

long term ?
(A) Bank Rate
(B) CRR

(C)  Repo Rate
(D)  Reverse Repo Rate

(vi)  Which item shows the biggest amount on the income side of the
bank’s Profit and Loss Account ?
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5. Answer any 5 out of the given 6 questions.

6)) Bank Draft is not issued by
(A) Private Sector Banks
(B) Regional Rural Banks
(C)  Public Sector Banks
(D)  Reserve Bank of India

5x1=5

(ii))  Delivery of banking services to a customer at his office or home by

using electronic technology is called

(A) ATM

(B) EFT

(C) e-banking
(D) ECS

(iii)  Zero balance account is generally allowed to be open for

(A) Salaried class
(B) Businessman

(C) Foreign customers

(D) Children

(iv) State one advantage of EMI.

(v)  Who is the sole authority to issue and manage currency in India ?

(A) SBI
(B) RBI
(C) Government of India

(D) Finance Ministry

(vi)  What is meant by Profit and Loss Account ?

[335-1] # 13
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6. Answer any 5 out of the given 6 questions. 5x1=5

) MICR code is used for .
(A) core banking solution
(B)  electronic funds transfer
(C)  electronic clearance of cheques

(D) cheque truncation services
(ii)  State the full form of WAP.

(iii) In , RBI relaxed its policy for opening of new bank
branches, allowing commercial banks to open new outlets in major
cities without seeking prior approval.

(A) September 2013
(B) September 2014
(C)  October 2013
(D)  October 2014

(iv) A bill of exchange is drawn on 15t July, 2021 payable one month

after the date. What will be the date of its maturity ?
(A)  4th August, 2021 (B) 5th August, 2021
(C) 34 August, 2021 (D) 6th August, 2021

(v)  Which of the following is not a function of the RBI ?
(A)  Fiscal policy functions
(B)  Exchange control functions
(C)  Issuance, exchange and destruction of currency notes
(D) Monetary authority functions

(vi) is a formal document in which the details of the
transaction are recorded.
(A) Pay-in slip (B) Withdrawal slip
(C) Voucher (D) Profit and Loss Account

# 15 P.T.O.
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SECTION B
(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5 questions on Employability Skills. Answer each
question in 20 — 30 words. 3x2=6

7.

Explain why effective communication is important in the Banking
environment.

8. Distinguish between paranoid and schizoid personality disorders.

9. Enlist the steps to protect spreadsheet with password.

10. Entrepreneurs must be aware of the barriers to gain entry into the
industry. Explain any two barriers to becoming an entrepreneur.

11. What are the green banking initiatives of leading public and private
banks ?

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. What is the difference between ‘Cheque’ and ‘Demand Draft’ ? (Any two
points)

13. What is ATM ? State the purpose of ATM.

14. How do banks earn profits ?

15. State the meaning of inflation in an economy. Why does this situation
need to be corrected ?

16. State the three categories of the Main Day Book which is prepared for

each working day of a bank branch.
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i
Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. Explain the need of core banking solutions. (Any three points)

18. Vishal invested ¥ 30,000 for 3 years @ 10% p.a. compounded annually.

Find the total amount and interest received by Vishal.

19. Explain any three responsibilities of the head of a bank branch.

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12
20. What is Bank Guarantee ? List any of its three features.

21. ABN Bank is planning to open a new branch in Jalandhar. M is assigned
with the responsibility of laying down branch setup. As an assistant, help
M in understanding the RBI guidelines for location and security
safeguard rules mandatory to be followed for opening the new branch.

22. Distinguish between CRR and SLR.

23. (a) Explain Default or Penal interest as a factor affecting market rate
of interest.

(b)  Differentiate between fixed and floating rate of interest. (Any two
basis)

24. What are Non-Performing Assets ? Explain any three preventive
measures to avoid non-performing assets.
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